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Overall Domain I‐III  
Best grade (highest  
GPA) from Domain  

I, Domain II, or  
Domain III  Domain I: Average of 

percent of tests at 
Level II Satisfactory 

Standard, Final Level 
II, and Advanced Level 

III across all grades 
and subjects. 

Groupings 
Campus Type 
Elementary 

Middle School 
High Schools 

KͲ12 
AEA 

Districts 
All nonͲsingle campus 

districts 
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Model for Domain IV for Elementary and Middle Schools 

Domain IV: Elementary and Middle Schools –  
Attendance Rates and 7Ͳ8 Annual Dropout Rate  

If both attendance rate and 
dropout rate are available, 

average the two scores 50/50 
creating an overall Domain IV 

score. 

Attendance Rates: The 
percentage of students 

present over days in 
membership. 

Dropout Rate: The 
percentage of 7Ͳ8 

students who dropped 
out in a given school 

year. 

Establish grades based on the 
Domain IV score as follows: 

10% A 
20% B 
35% C 
20% D 
15% F 

If the grade span for elementary 
schools does not contain grade 7 

or 8, then base the Domain IV 
score on attendance rate only. 
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Model for Domain IV for High Schools and KͲ12 

Best result from: 

4Ͳyear longitudinal 
graduation rate 

5Ͳyear longitudinal 
graduation rate 

Annual 9Ͳ12 dropout 
rate (if longitudinal rate 

is not available) 

Include 6Ͳyear 
longitudinal rate for 

AEAs. 

Weight score by 10 
percent 

Number of 2015 annual graduates who were enrolled in a CTE coherent 
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